ReskBon RAX=o—3

(= v 7)
L Sk S DV 4573 1,000 M
OLVIVO =2 Yvt—Y = O0-y3V/\vD = ZEf|
KT+ 300 1,000 M
BHIvH—Y or Dy hkIvP—I (B2H)
® 1) 6073 1,000 1

DYNS—=ITIVRAIL ¥ BXODFH2IEE0

(7 =A%)
®EHEHEFVYaAVOI—R 60 2,000 [
= BEOLHEELT L. ENORSIOMFIVEDY v T —I TEBPBROHDIBMNA
SEEE | IZ3TH BNEEI—-X 709D  2,300M
= RBIOEKDOHTHREOBNEROIRS. WPHENA
¢REHOER)—EYTI—-X 70 2,500 M
= FOUTEITAYvIL - N\YR&DY Ry —IhEy FOERI—2

(AT 1)
OHED | RV—FEMDI—X 705 2,000 H
= BONMNDEEBDENC U, I Ty hRy P —IEIVESYTHIHIT >0
O IETITXRFEDY BPIRHSHNI—R 60D 2,300 [1
= BADHDETHBE. IYTIE— VI TEEAD, Yy T—I&/\yITRDHENE
SEDLESNDSIHUSOEP—Y3YI—-RX 709D 2,500 H
= FENROBNATIEERBULEEENUSIP—Y3 VAN v —

A Y
Ry IUNS— 304y 800 M
L=« FEEZTPP— L 100 [~

OXR1)LT P (BOmMEa) 30 %y 500 [

(AFa )

ey T)LlE—UVD 300 M L AN VAW 300 M
L JISE] 300 N ET T 500 M
®/\VREYYvH—=Y 300 M ISV 700 4

L ZiIINGIVANES 500 H = ZEIJUECKOMITRENROD HEHNE



